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WEST BENGAL STATE UNIVERSITY

B.A. Honours Part-III Examination, 2019

PHILOSOPHY
} PAPER-PHIA-VIII
| - _ M
‘ Time Allotted: 4 Hours Full Marks: 100
The figures in the margin fﬁdix’a{q)‘itl[ marks. e Fwg wrE weAl ‘;’1‘7‘-7!3 famas e
Candidates should answer in their own words TN [T T IR FET ST N2
and adhere to the word limit as practicable, Ewg
GROUP-A
(I'ull Marks-50)
et
‘(sfR-¢o)
Answer any one Optional Paper
CA-(F 9310 QfoeT »taa Seawie
(Vedantasara | AviEAE)
Answer Question No. I and any swo from the rest within 600 words each
S &M e TR (F-(FI 716 eTF Ted afel oo =itarg Wy wie
1 Answer any four questions from the following within 150 words each: 5x4 =20
frrleiie -l 1RfP 2o Tea afel seo g g wies
{(a) What is meant by ‘Tatparya’?
Slew e B @RI 2
f (b) What are individual ignorance and collective ignorance?
i e eI & AR SILa I A 7
(¢} Explain the definition of *Adhikari’.
e wFels =01 S
(d) What is Indriyatmavada?
Sfream §
(e) Distinguish between Susupti and Nirvikalpaka Samidhi.
7 @ s i ke 5 0 ‘

(f) Why is the text “Vedantisara® called ‘prakarana grantha’?
(R QPR 2R O 5 3 S 9
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(g) How are the five great elements (Paficamahabhiita) produced?
AENZGS FISI TeofH 27 ¢

(h) What is ‘Upasana’? What is the necessity of ‘Upasana’?
ToAPTAL B A0 2 ToAPTR CAE F 9

B.A./Part-I1l/Hons./PHIA-VIII/2019

2. Explain how the statement ‘Tattvamasi’ leads to the awareness that Jivatman and 15
Brahman are identical.

“SEuBY 1% (A SN © AT SLSHEN FISIE Teois 23 ©f AT BT |

3, Show the Sruti, Anubhuti and Jukti in connection with the view that ‘Manas’ is 15
identical with Atma.

TZ WG~ R TSR T 2%, TS ¢ 111%: ol FTAN |

4. Explain fully the Svartipalaksana and Tatasthalaksana of Brahman following the 15
Magalacarana of ‘Vedantasara’. :

EHIGHIE ST THE6A CRIRPIPAIA JUAA FAIeTel 8 Shzare [ 101 Fal )

5. Distinguish between literal meaning and intended meaning. Explain and 15
illustrate in this connection the three varieties of intended meaning. -

and e FEEda s <N e s 92 e foneleia o Twizas SRSt IR0l
@l |

(Ryle / AZe)
Answer Question No. 1 and any fwe from the rest within 600 words each
SR @i € WA (- 15 @nea Tea afef voo *ta vy we

1. Answer any four questions from the following within 150 words each: 5x4 =20

e - orafb aiva T 2ifeld seo =irarm sty wies

(a) What is mind-body interactionism? Discuss briefly.
s M St 9 FREFCHA SCEOA S0 |

(b) Distinguish between voluntary and involuntary actions after Ryle.
AT SpTad Ba A oess @ witves i W 21 orans |

(c) Explain after Ryle the nature of consciousness.
BT WS SR HCA GO FH AT A |

(d) Give one criticism of the ‘Dogma of the ghost in the machine’, according to
Ryle. :

ABECE PR I ACH B GO — SLGR G35 FACEAGA ToHE= 1 |
(e) What, according to Ryle, is the concept of volition?

2iEEa S efgfed el 9
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H

(g)

(h)

(a)

(b)
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Is intelligence a kind of ‘knowing how’ or ‘knowing that’?

I & 9= eiwra SN @ 4l @ QA @ o

What does Ryle mean by ‘intellectualist legend’?

Fize (e TeF IE0e F IR 9

What is the difference between the dispositional terms and the occurrent terms?

‘@] TR * G2 GBI *w R Wiz 2N 2

What is ‘category mistake’? Critically discuss after Ryle in what respect the 5+10
official doctrine involves ‘category mistake’.

‘AR PF T ¢ (TR HAE CFCG Afefpe Toam Frend @dre i
SR 2, AREA-CF SeprRel I ARG SIS |

What is dispositional statement? In this regard, explain the single track 5+10
disposition and multi-track disposition.

AR5 SRHIEE FICE A0 2 4 2R GG 2ierol 9k T eierel I FE |

How can the concept of volition be explained without admitting a mental 15
substance?

HOTT I T Feae 2[fET g6l FISita i 3 T 2

Discuss critically Ryle’s notion of ‘retrospection’ in relation to self-knowledge. 15

I-TAIR AR 23R orpleeitaa’ et JReE S 6 |

(Logic / S 1wt

Answer Question No. 1 and any #wo more from Section-I and Section-11
taking one from each section

SR e RS, qRTS da-d AR Ae-3 (AF @@ 96 F@ Fo it 1o
oTHa TEq e

Answer any four questions from the following: 5x4 =20
e @-@ I 1afe et Tea wies

“There is a close relationship between saying that something has a property and
saying that it belongs to a class’. — Explain.

‘I TGOS S 43 e @R I8 S @A ey — 93 U wfoa e 9 e
IR — I e

Explain the difference between the relation of identity and the relation of
membership. ' :

fSTe! @R FATHTSIA FHACHT N 2N A B
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(c) Are the following assumptions mutually consistent? Prove with the help of Venn

diagram.

va A & waifesy ¢ confbraz s 2w S
BNC=A '
(AnOC)~B=A
(ANnB)~C=A
(ANB)VANCO)V(BNCO)#A

(d) Determine the relation between Philosophical Logic and Mathematical Logic.
v IfefRm ¢ snfafes gfeRm st st fdfa s

(e) Explain the relation of reflexive-irreflexive and non-reflexive with example and
symbolic definition.

RO FKEN @ T1Zae! TR TTHHS F-SOTHHE 4R SIS ST 1] Al
(f) Explain the principle of Extensmnallty for sets.
@A e bR RN T FE |
(g) What is wrong with the following argument?
Socrates is a man. Men are numerous. Therefore, Socrates is numerous.

e e (vn o 2
(G AFGT N | AT PR | TR ﬂt@ﬁﬂw\ﬂ]l

| (h) What is “Binary Relation”? Explain with an example.
“fGeIl " I 0 9 G0 IR AR W AT

SECTION-I / 9&-5

2. (a) Translate the following sentenées using set theoretic notation: 3
e A efaces ebkEPR TR e T
(i) Poets are fond of flowers and birds.
a1 =1 6 A1 SR
(i) Dog is carnivorous.
T4 28 TR
(ii1) Tyrants are mortal.
STopHIAE ST |
(b) Give the symbolic definitions of set-intersection and set-union. 4
GiB-intersection @R (i6-union €3 AR EF e 7 | .
(c) Find the value of the following: : T4
frcare e o e e
M AN {A) (i) A, (A3}~ A
(i) A (A} (@) {A, (A}}~
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> {d) Which of the following statements are true for all sets A, B and C?
A, B @R C ¢1B @3 o509 frafeids arefem e wrer ¢
(i) TAcsBandBcCthenAcC
.. AMAeBIRBCCSEEACC

(i) fAgBandB & C,then A ¢ C
A ¢ BARB ¢ CWOEEA ¢ C

3. (a) Test the following arguments by Venn diagram:
conuaa et feita et Rvw s
All liars are prejudiced.
Some witnesses are not liars.
. Some witnesses are not prejudiced. - —_—
e TR SRR |
oy AR M s
- g 1R sermmives T

(b) Test by Venn diagram whether the following propositions are consistent or not:
oAbt T e R el wafer ) otes
BraC=A
(AnNC)~B=A
(ANB)~C=A
(ANBIUANCQU@BNC) =A
{¢) Classify the relation of being the same height in the set of all persons according

to the properties they do or don’t have. (eg. Reflexive, symmetric, transitive,
antisymmetric etc,)

T A GO CRGE FAALa TRAcE o3 (I TTES, WAy, W, Fawad

geifn)
(d) Are the following assumptions mutually consistent?

fsiefere fgeef & orreicas wica smfes o
Some Americans are virtuous,
No virtuous people steal from the poor.
Some Americans steal from the poor.
I (I SRR afifE)
I «ifslis rfe wiamge @ 5 stz win

3089 5
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SECTION-II / 9&-%

4. (a) Use truth-tree method to determine the validity of the following: 3
oA Aafore AR (aee! e e
(x) (Fx v Gx)—[ (x) Fxv(x) Gx]
(b) Test the following arguments for validity by truth tree method: 4+4

T “iwfea TRy e s tage! vl e

(i) Alma does not love all her lovers. Alma has a lover whom she does not
love.

T O 7 (AR SIERICT | TOAR ST 96 (@i ez WS G

IR </l
(i) (3x) Px
(x) (Px — QOx)
(3x) Ox
(¢) Determine the validity of the following statement by Truth-tree method. 4

Mo “mfen M Mo 664 (gl Fefm st

If a relation is symmetrical and transitive, then it is reflexive.
W T 379 A G- IR 22 O3 i 7S 2

5. Explain critically, C.I. Lewis’s theory of entailment. 15
o5& og T90H C.1. Lewis 499G S5 1471 |

(Practical Vedanta / IAQEE (@WE)

Answer Question No. 1 and any fwo from the rest within 600 words each
> TR e @ W -G 76 @red Tew alfel oo e W we

13 Answer any four questions from the following within 150 words each: 5x4 =20
e -t 51af% eivim Ter &l seo *itwa Wy wes
(a) What are the sources of power of great man? — Explain.
TR = B I F 2 TR
: (b) What is the significance of Dvaitavada in Advaita Vedanta?
SES W (ASAIR PG Sl 9

(c) What is the necessity of self-confidence as an ideal?

v R S e R eet F ¢

(d) How is the concept of self-sacrifice derived from the nature of ‘man?
A9 TS (ACF SEeitald «ige & ©itg Moo 2z ¢
(e) What is the real nature of man? Explain after practical Vedanta.

a7 P 2 AN @RS Svace! F1 S|
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(f) What is I$vara according to Vedanta? Discuss briefly after Vivekananda.
(IS AT 5083 P 2 R Sl S0 ALCHC G |

(g) How is universal religion established in Practical Vedanta?
anifes wEce Fi i Afea «f efeozny

(h) Explain the notion of ‘morality’ after Vedanta Tattva.
AMIESG PR IR (Ao’ 4iaenfB =t Rzl

2. Explain in detail how one can construct and lead his life, in the light of ‘Practical 15
Vedanta’.
WWWWWWWGWWW sl Reifiesiz
CoTCRI
3. How will Practical Vedanta bring about the well-being of a society? Discuss 15
after Swami Vivekananda.
JIREE (@I FISIE TG 2ATF FeIFT 2, wﬁmwmqmwmm'
N
4. What is the justification for accepting ‘Nirguna’ instead of ‘Saguna’ I§wara in 15
the Vedantic mind of Vivekananda?
ﬁ@ww—h@mf&mﬁs@quwﬁﬁm‘ﬁwwm@w |
FCACRA ?
. Distinguish between Atmavada and Nairatmavada. Are they reconcilable in 15
Advaita Vedanta?
wwwetawwaw AL TR WS @IS & Tow Nrwd Wexy TG Hew
ﬂ@a 9
(Communist Manifesto / S8 wpifrwrroy)
Answer Question No. 1 and any mwo from the rest within 600 words each
SR &Ml € TP (- 716 erea Ter @fSfb voo e s wie
1 Answer any four questions from the following within 150 words each: 5x4 =20
- freteie - 516 e Tew @fef seo =it ey wies
(a) What is meant by class conflictless society?
AR TaIE TS . A TR 7
(b) What is meant by ‘Forces of productlon
Tesiia =& Foce & @i 9
(c) Elucidate the main difference between Utopian socialism and scientific
socialism.
el AACOE Wtﬁ'@ﬁ‘:ﬁf FNCTSH & AN HCEAG S |
3089 _ i/ Turn Over
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(d)

(e)

()

l[' g

h

(a)

(b)

3089

What, ascordin;g to Marx, is materialist conception of history?
Bfosiem™ TR i 60 T T R ¢

What is meant by ‘Primitive Communism™?

oI ARG TS @R 2

Explain dictatorship of the proletariat after Marx.

SRS SEFEd 08 TR AT I Al

What is the main factor for social change? — Explain.

e ~fEastTa 3E FRel 7F ¢ e s

What is class struggle? Explain the different stages of class-struggle in human
history.

GAIE TS I 0w 2 Wier Sz ffey darea b weats i @l

What is the significance of the slogan - “Working men of all countries unite™?
What, according to Marx, is the international task of the class today?

“HAE WEYE 9% 267 @2 Wl A Fi ¢ WS- e I e 2 @fE
EEifes $E B 2

Explain the origin and nature of family, according to Marx and Engels.
WG @ T PR S 7IHaEe $84 € 2o a6 S

What does Marx mean by Feudalistic socialism? How does he criticize this
doctrine?

HrESifET FaiEey e W $ gRaced 2 @2 wgh R o TiEn S ¢

{Dharma : Rabindranath Tagore / %% : aSi@ee 5159)

Answer Question No. 1 and any swe from the rest within 600 words each
SR 2R @ WU (I-CHIC! 710 eiE Ten 2Tl voo =Ty W Wie
Answer any four questions from the following within 130 words each:

Fefale i 51T o Sud gf6h seo =i T wes

What is the way to overcome sufferings recommended by Rabindranath Tagore
in his essay “Prachin Bharater Ekah™?

TR SO B I 2 FHA TANLAL IFT Ol bW SR «FE” 20F
e ¢ |

“Nayamatmi balahinena labhya”— Explain the significance of this Upanisadic
statement.

RIS FEREE we) a3 SRy Qe Sieerh 5 Sl

8

-y
LA

9+6

5%d =20
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(c¢) Explain the significance of the. story of three boons following the essay

“Prarthana”.

I 2l Sepracel o S0 At Wik it Al

(d) Why is Ut.s'égﬁii-‘t’:'alhledw‘jl_:xowcr' of carnival’? — Explain following Tagore’s essay

(e)

89

(2)

(h)

3089

“Utsaver Din”. -

ST (1 ¥fed B Fl 2R 2 TG PR TN T el e
IR =

Why does Rabmdra‘ﬁath Tagore call the world as imperfect instead of nothing?
Explain following his essay “Dukha”.

(1 T P Tl (& W5} R, X A 9 Wl G2 A el
JrRAFCEN

State briefly Rabindranath Tagore’s’” view on individualism following his essay.
“Tatah Kim”. _ :

I FroFA A0 TG IIFER TG O 0w Rt el Sepiael I FCH
TCEL R |

According to Rabindranath Tagore, what is the great ideal upon which all our
festivals are grounded? — Explain after Tagore’s essay “Utsaver Din”.

ARG IFET NS A TG ©IE T SR T TR el o aqmie
DIFCAR TR 7 @l STapormice] i SN |
How does Rabindranath Tagore explain the Four Asramas?

AR DI FRARRE TSI 1 PR 9

How does Rabindranath Tagore explain the order among diversity? Explain after
his essay “Prachin Bharate Ekah”. :

Cafotara W WelsieE IqNEY AP ol T FE0EA 2 O el orre
2 ST I B '

“Flowerness is easy for flowers but humanity is not so easy for human being”.
Explain the significance of this view of Tagore following his essay
“Manusyatva”. '

&9 64 Sl wig ‘.‘ww”mwmqmmm|

What, according to Rabindranath Tagore, is our genuine prayer? Why, according
to him, the so called patriot might be a positive hindrance to humanity? Explain
following Rabindranath Tagore’s essay “Prarthand’”.

T JIFE NS AR TR A B 9 (v oo O 0o W S
20 B0 2N ¢ — AN AP “ALAL” 2l Pt v Fe |

Explain the concept of Brahma-vihara following Rabindranath Tagore’s essay
“Utsaver Din”. '

NG IIFER TR e @l Seprael I3 FARAE Al 51 st

15

15

15

15
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(Practical and Environmental Ethics / T532fs® @z #farat fifefam)

Answer Question No. 1 and any fwo from the rest within 600 words each
S W 2P € TR A-(FI 7o e Tea eifefb voo *rara w0y wie
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1. Answer any four questions from the following within 150 words each: 5x4 =20
fsferie @- o1afe aivem Tea eifefd seo it Wy wes
(a) What are the arguments against suicide?

wreRe [{eirs gfeafs & & 9

(b) “No one is born a woman, she becomes a woman” — Explain the significance
of the statement.

‘@T WA 203 T 1, WA 2 90— e wiesf et T

(c) What is meant by Human Rights? What are the distinctive features of Human
Rights? '
RIS TS F @RI ¢ AR (e Srad s

(d) What is meant by Gender discrimination? Does our modern society upheld
gender discrimination?

o (s <eTCS R (@I 7 I TN R forme (A 9
(e) What are the marks of *Just war’?
EgrE FEeei #
(f) What is ecology? *
AT FE I A 2
(g) What are the roles of environment and heredity in gender discrimination?
o (e ooy wifara ¢ aenifon i & ¢
(h) Give arguments in support of the conservation of nature.
eigfora W AR #IvF e ne)
(i) Do you think we should have reverence for life and plant?

2191 ¢ Tfgrva 2fS & sz G 2w THe ¢

(j) Do you support the principle of reservation as a means to compensate
discrimination in society?

oSl & waieea taaena afefRuiem ey s Afors de Fl ¢

2. What is euthanasia? Is euthanasia morally justified? 4+1

Tl 2o7l F) ¢ Tl 2ot 1 (afew e e At ¢

. What do you mean by Feminism? Distinguish between Liberal Feminism and 3+1
Radical Feminism.

AW 0 fF @I 2 TSR @ bR IR 2rew A WIEHA FCEM

4. What is racial discrimination? Discuss the arguments presented by Peter Singer 3+1
against racial discrimination.

wifeste taas) q@e @ @Il ¢ wifste s s om P e e wesa
Fa
10
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What do you mean by terrorism? Is terrorism ethically permissible?
FEFEM G0 T @A 7 FEFRIT B (e wmdaa v

GROUP-B
{(Full Marnks-50)
fasist-1

(F9uE-eo)

L Write an essay on any one of the following topics of Indian Philosophy:
(Within 1500 to 2000 words)

e Wit sl Remefm s @ o Rane 9w o e
(>@oo (YF Yoco RS W)

(a) General Features of Indian Philosophy
Sl T S (g

(b} Brahma in Advaita Vedanta Philosophy
WHE (VI W

{c) The concept of "Moksa® in Indian Philosophy
SRS W (I e Jn

(d) The concept of Puruga and Prakriti in Sankhya Philosophy. | —

AT 2 ¢ 25fe vy

2. Write an essay on any ene of the following topics of Western Philosophy:
(Within 1500 to 2000 words):

#pre] e fafeiie Remefr ww e e ool e B fes oo
(>¢oo (UTF o000 *THA )
(a) Rationalist view on the concept of substance
A Heh] T i W
{b) Plato’s Theory of Knowledge
(RlBra BSg
fc) Different types of Realism in Western Philosephy
2ipsiereiia ffow e agaw

{d) *Copernican revolution” after Kant.
BI04 R Re

R 1]

4+1]



